

Home Search Collections Journals About Contact us My IOPscience

Integrable deformations of the Heisenberg model: prolongation structure technique

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1991 J. Phys. A: Math. Gen. 24 L219 (http://iopscience.iop.org/0305-4470/24/5/002)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 129.252.86.83 The article was downloaded on 01/06/2010 at 14:08

Please note that terms and conditions apply.

LETTER TO THE EDITOR

Integrable deformations of the Heisenberg model: prolongation structure technique

De-gang Zhang[†], Guo-xiang Yang and Jie Liu[†]

 Center of Theoretical Physics, CCAST (World Laboratory), Beijing and Institute of Solid State Physics, Sichuan Normal University, Chengdu 610066, People's Republic of China
 Department of Physics, Southwest Nationalities Institute, Chengdu 610041, People's Republic of China

Received 7 December 1990

Abstract. The integrable deformations of the one-dimensional classical Heisenberg model have been investigated by use of the prolongation theory of Wahlquist and Estabrook. The SO(3) invariant deformation and a higher-order isotropic deformation with nonlinearity in the deformation parameters are obtained. The Lax pairs for these integrable spin equations are presented. Finally it is pointed out that these spin equations are equivalent to the generalized nonlinear Schrödinger equations.

In reference [1], Mikhailov and Shabat investigated the first-order integrable deformations of the one-dimensional classical Heisenberg model by use of the equivalence between the Heisenberg spin equations and the integrable nonlinear Schrödinger equations. It is well known that all nonlinear evolution equations which are completely integrable exhibit non-Abelian prolongation structure [2, 3]. Recently, we also discussed the integrable deformations of the Heisenberg model by employing the prolongation structure technique [4]. The anisotropic deformations which are identical to those in reference [1] and the arbitrary N-order isotropic deformations were obtained. In this letter we shall construct the other integrable deformations using the prolongation theory.

First, we consider the following integrable spin equation

$$\mathbf{s}_t = \mathbf{s}_{xx} + \mathbf{E}(\mathbf{s}, \mathbf{s}_x) \qquad \mathbf{s} \cdot \mathbf{s} = 1 \qquad \mathbf{s} \cdot \mathbf{E} = 0 \tag{1}$$

where the deformation vector $E = (E_1, E_2, E_3)$ is to be determined. Taking $s_{a,x}$ and $s_{a,xx}$ (a = 1, 2, 3) as new independent variables. Then, (1) can be represented by the following set of 2-forms

$$\alpha_{1} = ds \wedge dt - s_{1,x} dx \wedge dt$$

$$\alpha_{a+3} = ds_{a,x} \wedge dt - s_{a,xx} dx \wedge dt$$

$$\alpha_{a+6} = ds_{a} \wedge dx + \varepsilon_{abc}s_{b} ds_{c,x} \wedge dt + E_{a} dx \wedge dt$$

$$(2)$$

$$\alpha_{a+9} = ds_{a,x} \wedge dx + \varepsilon_{abc}s_{b} ds_{c,xx} \wedge dt + \varepsilon_{abc}s_{b,x} ds_{c,x} \wedge dt + E_{a,x} dx \wedge dt$$

$$\alpha_{13} = s_{a} ds_{a,xx} \wedge dt + 3s_{a,x} ds_{a,x} \wedge dt \equiv 0$$

§ Mailing address.

0305-4470/91/050219+05\$03.50 © 1991 IOP Publishing Ltd

where ε_{abc} is the totally antisymmetric tensor and the summation convention for repeated indices has been used. It is worthwhile noting that 2-forms α_{a+9} come from differentiating (1) with respect to the space variable x. It is not difficult to prove that the ideal, I, of 2-forms (2) is closed, i.e. $d\alpha_i = f_{ij} \wedge \alpha_j$; f_{ij} is some set of 1-forms. To obtain prolongation structure [2], we introduce a set of 1-forms

$$\omega_k = \mathrm{d}y^k + F^k \,\mathrm{d}x + G^k \,\mathrm{d}t \qquad k = 1, 2, \dots, n \tag{3}$$

where y^k are the prolongation variables, F^k and G^k are functions of s_a , $s_{a,x}$, $s_{a,xx}$ and y^k . Demanding the extended ideal $\tilde{I} = \{\alpha_i, \omega_k\}$ to be closed (i.e. $d\omega_k = g_i^k \alpha_i + n_i^k \wedge \omega_i$, g_i^k and n_i^k are 0-forms and 1-forms, respectively) leads to the integrability conditions for (1)

$$F_{s_{a,xx}}^{k} = 0$$

$$G_{s_{a,xx}}^{k} = \varepsilon_{abc} F_{s_{b,x}}^{k} s_{c}$$

$$s_{a,x} G_{s_{a}}^{k} + s_{a,xx} G_{s_{a,x}}^{k} + \varepsilon_{abc} s_{a,xx} (s_{b} F_{s_{c}}^{k} + s_{b,x} F_{s_{c,x}}^{k}) - E_{a} F_{s_{a}}^{k} - E_{a,x} F_{s_{a,x}}^{k} - [F, G]^{k} = 0$$
(4)

where $[F, G]^k = F^i G_{y_i}^k - G^i F_{y'}^{k_i}$. Because the anisotropic integrable deformations were obtained [4], we only give here the isotropic deformation. Equations (4) have the solutions

$$F = 2\alpha\lambda^{2}s_{a}X_{a} + 2\alpha\lambda s_{a,x}X_{a}$$

$$G = 2\alpha\lambda\varepsilon_{abc}s_{a}s_{b,xx}X_{c} + 2\alpha\lambda^{2}\varepsilon_{abc}s_{a}s_{b,x}X_{c}$$

$$+ (2\alpha\beta\lambda - 4\alpha^{2}\lambda^{3} + 2\alpha^{2}\lambda s_{x} \cdot s_{x})s_{a,x}X_{a}$$

$$+ (2\alpha^{2}\lambda^{2}s_{x} \cdot s_{x} + 2\alpha\beta\lambda^{2} - 4\alpha^{2}\lambda^{4})s_{a}X_{a}$$
(5a)
$$(5a)$$

 $\boldsymbol{E} = \alpha \boldsymbol{s}_x \cdot \boldsymbol{s}_x \boldsymbol{s}_x + \beta \boldsymbol{s}_x \tag{5c}$

where α and β are the deformation constants, λ is an arbitrary constant as in the spectral parameter below, X_a depend only on the prolongation variables y^k and constitute the su(2) Lie algebra, i.e. $[X_a, X_b] = \varepsilon_{abc} X_c$.

The Lax pair for (1) is

$$U = F|_{X_a} = -\frac{i}{2}\sigma_a = -i\alpha\lambda^2 S - i\alpha\lambda S_x$$

$$V = G|_{X_a} = -\frac{i}{2}\sigma_a = -\frac{1}{2}\alpha\lambda[S, S_{xx}] - \frac{1}{2}\alpha\lambda^2[S, S_x]$$

$$-i(\alpha\beta\lambda - 2\alpha^2\lambda^3 + \alpha^2\lambda S_x^2)S_x - i(\alpha\beta\lambda^2 - 2\alpha^2\lambda^4 + \alpha^2\lambda^2 S_x^2)S$$
(6)

where σ_a are Pauli matrices and $S = s_a \sigma_a$. The deformation (5c) is nothing but the SO(3) invariant integrable deformation of the Heisenberg model [1].

Secondly, we consider the higher-order integrable spin equattion

$$s_{t} = s \times s_{xx} + E(s, s_{x}, s_{xx}) + \alpha s_{xxx} + 3\alpha s_{x} \cdot s_{xx}s$$

$$s \cdot s = 1 \qquad s \cdot E = 0$$
(7)

where α is the deformation parameter. Repeating the same procedures above, we obtain the integrability conditions for (7)

$$F_{s_{a,xx}}^{k} = F_{s_{a,xxx}}^{k} = 0$$

$$G_{s_{a,xxx}}^{k} = \alpha F_{s_{a,x}}^{k}$$

$$s_{a,x}G_{s_{a}}^{k} + s_{a,xx}G_{s_{a,x}}^{k} + s_{a,xxx}G_{s_{a,xx}}^{k} + \varepsilon_{abc}s_{a,xx}(s_{b}F_{s_{c}}^{k} + s_{b,x}F_{s_{c,x}}^{k})$$

$$+ \varepsilon_{abc}s_{a,xxx}s_{b}F_{s_{c,x}}^{k} - \alpha s_{a,xxx}F_{s_{a}}^{k} - E_{a}F_{s_{a}}^{k} - 3\alpha s_{xx} \cdot s_{xx}s_{a}F_{s_{a,x}}^{k}$$

$$- 3\alpha s_{x} \cdot s_{xxx}s_{a}F_{s_{a,x}}^{k} - 3\alpha s_{x} \cdot s_{xx}(s_{a}F_{s_{a}}^{k} + s_{a,x}F_{s_{a,x}}^{k}) - [F, G]^{k} = 0.$$

$$(8)$$

We assume that (8) have the following solutions

$$F = As_{a}X_{a} + Bs_{a,x}X_{a}$$

$$G = \alpha\beta s_{a,xxx}X_{a} + C\varepsilon_{abc}s_{a,x}s_{b,xx}X_{c} + D\varepsilon_{abc}s_{a}s_{b,xx}X_{c}$$

$$+ Hs_{a,xx}X_{a} + I\varepsilon_{abc}s_{a}s_{b,x}X_{c} + Js_{a,x}X_{a} + Ks_{a}X_{a}$$
(9b)

$$E = \xi s_x + \eta s \times s_x + \nu s \times s_{xx} + \theta s_{xx} + \theta s_x \cdot s_x s$$
(9c)

where A and B, which contain the spectral parameter λ , are constants, C, D, H, I, J and K are functions of s_a , $s_{a,xx}$ and λ , ξ , η , ν and θ are functions of s_a , $s_{a,x}$ and $s_{a,xx}$. Substituting (9) into (8), we finally obtain

$$A = -\frac{3\alpha}{2\beta}B^{2}(\lambda) \qquad \xi = \frac{3}{2}\alpha s_{x} \cdot s_{x} - \frac{\beta}{3\alpha}s_{x} \cdot s_{x} - \frac{\beta^{2}}{6\alpha}(s_{x} \cdot s_{x})^{2} + \gamma \qquad \nu = \beta s_{x} \cdot s_{x}$$
$$\eta = \theta = 0 \qquad C = \alpha B^{2} \qquad D = B + \alpha A B + B \nu \qquad H = \alpha A$$
$$I = A + \alpha A^{2} + A \nu \qquad J = B\xi - A B - \alpha A^{2} B - A B \nu - \alpha B^{3} s_{x} \cdot s_{x}$$
$$K = 3\alpha B^{3} s_{x} \cdot s_{xx} + A B \nu_{x} - \alpha A B^{2} s_{x} \cdot s_{x} - A^{2} - \alpha A^{3} - A^{2} \nu + 3\alpha B s_{x} \cdot s_{xx} + A \xi$$
(10)

We note that the deformation (9c) is nonlinear in terms of the deformation parameters α and β . When $\beta = 0$, (7) becomes that equation discussed by Papanicolaou [5]; when $\beta = \epsilon \alpha$ and $\alpha = 0$, (7) becomes the SO(3) invariant deformed Heisenberg spin equation (1).

Finally, we show that (7) is equivalent to a generalized nonlinear Schrödinger equation which is also completely integrable.

Following Lakshmanan [6], we map (7) on a moving helical space curve described by the orthogonal trihedral e_a which satisfies the Serret-Frenet equations

$$e_{1x} = ke_2$$
 $e_{2x} = -ke_1 + \tau e_3$ $e_{3x} = -\tau e_2$ (11)

where the curvature is given by $k = (e_{1x} \cdot e_{1x})^{1/2}$ and the torsion is given by $\tau = k^{-2}e_1 \cdot (e_{1x} \times e_{1xx})$.

Taking $e_1 = s$, then, (7) can be rewritten as

$$e_{11} = \left(-k\tau + \alpha k_{xx} - \alpha k\tau^2 + \frac{1}{2}\sigma k^3 - \frac{\beta}{3\alpha}k^3 - \frac{\beta^2}{6\alpha}k^5 - \beta k^3\tau\right)e_2$$
$$+ \left(k_x + 2\alpha k_x\tau + \alpha k\tau_x + \beta k^2 k_x\right)e_3. \tag{12}$$

Using (11) and (12) and the constraints $e_{atx} = e_{axt}$, we obtain the following nonlinear evolution equations for the curvature k and the torsion τ of the space curve

$$k_{t} = -2k_{x}\tau - k\tau_{x} + \frac{3}{2}\alpha k^{2}k_{x} - \frac{\beta}{\alpha}k^{2}k_{x} - \frac{5\beta^{2}}{6\alpha}\kappa^{4}k_{x} - 4\beta k^{2}k_{x}\tau - \beta k^{3}\tau_{x} + \alpha k_{xxx}$$

$$-3\alpha k_{x}\tau^{2} - 3\alpha k\tau\tau_{x}$$

$$\tau_{t} = \left(-\tau^{2} + \frac{1}{2}k^{2} + \frac{1}{4}\beta k^{4} + \frac{3}{2}\alpha k^{2}\tau - \frac{\beta}{3\alpha}k^{2}\tau - \frac{\beta^{2}}{6\alpha}k^{4}\tau - \beta k^{2}\tau^{2} + 3\alpha k^{-1}k_{xx}\tau - \alpha\tau^{3} + k^{-1}k_{xx} + 2\beta k_{x}^{2} + \beta kk_{xx} + 3\alpha k^{-1}k_{x}\tau_{x} + \alpha\tau_{xx}\right)_{x}.$$

(13)

Making the complex transformation [6] we have

$$\psi(x,t) = k(x,t) \exp\left[i \int_{-\infty}^{x} \tau(y,t) \, \mathrm{d}y\right]. \tag{14}$$

Equations (13) then become the generalized nonlinear Schrödinger equation

$$i\psi_{t} + \psi_{xx} + \frac{1}{2}|\psi|^{2}\psi + \frac{1}{4}\beta|\psi|^{4}\psi + \frac{i}{6\alpha}\beta^{2}(|\psi|^{4}\psi)_{x} + \beta(|\psi|^{2}\psi_{x})_{x} + \frac{i}{3\alpha}\beta(|\psi|^{2}\psi)_{x} - \frac{3}{2}i\alpha|\psi|^{2}\psi_{x} - i\alpha\psi_{xxx} = 0$$
(15)

which is equivalent to (7). When $\beta = 0$, the equivalence between the Papanicolaou equation and the Hirota equation is obtained [5]. When $\beta = \epsilon \alpha$ and $\alpha = 0$, the equivalence between the SO(3) invariant deformed Heisenberg spin equation and that which is a mixture of the nonlinear Schrödinger equation and the derivative nonlinear Schrödinger equation is obtained [7].

The Lax pair for (15) is

$$U = \frac{3i\alpha}{4\beta} (1+\lambda^2) \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} + \frac{1}{2}\lambda \begin{pmatrix} 0 & \psi \\ \psi^* & 0 \end{pmatrix}$$
$$V = A \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} + \frac{1}{2}\lambda \begin{pmatrix} 0 & B \\ B^* & 0 \end{pmatrix}$$
(16)

where

$$A = \frac{1}{4}\lambda^{2}\alpha(\psi_{x}^{*}\psi - \psi^{*}\psi_{x}) - \frac{i}{8}\lambda^{2}\beta|\psi|^{4} - \frac{i}{4}\lambda^{2}|\psi|^{2} - \frac{3i\lambda^{2}\alpha^{2}}{8\beta}(1+\lambda^{2})|\psi|^{2} - \frac{9i\alpha^{2}}{8\beta^{2}}(1+\lambda^{2})^{2} - \frac{27i\alpha^{4}}{16\beta^{3}}(1+\lambda^{2})^{3}$$

$$B = \alpha\psi_{xx} - \frac{\beta}{3\alpha}|\psi|^{2}\psi + i\beta|\psi|^{2}\psi_{x} - \frac{\beta^{2}}{6\alpha}|\psi|^{4}\psi + i\psi_{x} + \frac{3i\alpha^{2}}{2\beta}(1+\lambda^{2})\psi_{x} - \frac{9\alpha^{3}}{4\beta^{2}}(1+\lambda^{2})^{2}\psi - \frac{3\alpha}{2\beta}(1+\lambda^{2})\psi - \frac{1}{2}\alpha\lambda^{2}|\psi|\psi.$$
(17)

In conclusion, we have investigated the integrable deformations of the Heisenberg model by use of prolongation theory. It is interesting that the deformation (7) is nonlinear in terms of the deformation parameters α and β . From (8), we have not obtained the higher-order anisotropic integrable deformations of the Heisenberg model [8, 9].

References

- [1] Mikhailov A V and Shabat A B 1986 Phys. Lett. 116A 191
- [2] Wahlquist H D and Estabrook F B 1975 J. Math. Phys. 161
- [3] Corones J 1976 J. Math. Phys. 17 756
- [4] De-gang Zhang and Guo-xiang Yang 1990 J. Phys. A: Math. Gen. 23 2133
- [5] Papanicolaou N 1979 Phys. Lett. 73A 134
- [6] Lakshmanan M 1977 Phys. Lett. 61A 53
- [7] Porsezian K, Tamizhmani K M and Lakshmanan M 1987 Phys. Lett. 124 159

.

- [8] De A K and Roy Chowdhury A 1987 J. Math. Phys. 28 319
- [9] De-gang Zhang and Li Cheng 1989 Phys. Lett. 138A 43